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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð >na 
Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 

 Series SGN  H$moS> Z§.         
 Code No. 

amob Z§. 
Roll No. 

   
 

 

 
g§ñH¥$V_² (EopÀN>H$_²) 

SANSKRIT (Elective) 

g_`mo : hmoamÌ`_²    nyUm©‘>m… : 100 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 100 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 12 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na {bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >12 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©† _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 12 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 12 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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Time allowed : 3 hours Maximum Marks : 100 

{ZX}em… : 

{ZX}e :   
Instructions :    

  g§Ho$Vm^mdo gd}fm§ àíZmZm_wÎmam{U, g§ñH¥$VoZ¡d boIZr`m{Z & 
  Ohm± g§Ho$V Z hmo, dhm± g^r àíZm| Ho$ CÎma g§ñH¥$V _| hr {bI| & 

Answer all questions in Sanskrit, unless instructions are given 

otherwise. 

 

Apñ_Z² àíZnÌo MËdma… IÊS>m… gpÝV & 

Bg àíZ-nÌ _| Mma IÊS> h¢ & 

There are four sections in this question paper. 

IÊS>… H$ An{R>Vm§e  Ad~moYZ_² (An{R>Vm§e  Ad~moYZ)   15 A‘>m… 

SECTION A (Unseen Reading Comprehension) 

IÊS>… I g§ñH¥$VoZ aMZmË_H$boIZ_² (g§ñH¥$V _| aMZmË_H$ boIZ)  15 A‘>m… 

SECTION B (Writing Skills in Sanskrit) 

IÊS>… J n{R>Vm§e  Ad~moYZ§ g§ñH¥$Vgm{hË`ñ` n[aM`… M 

          (n{R>Vm§e  Ad~moYZ Ed§ g§ñH¥$V gm{hË` n[aM`)  40+10=50 A‘>m… 

SECTION C (Reading Comprehension and Introduction  

  to History of Sanskrit Literature) 

IÊS>… K N>ÝXmo@b‘>mam… (N>ÝX Ed_² Ab‘>ma)  20 A‘>m… 

SECTION D (Metres and Figures of Speech) 
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IÊS…> H$ (SECTION A) 
An{R>Vm§e  Ad~moYZ_²  
An{R>Vm§e  Ad~moYZ 

 Unseen Reading Comprehension             15 A‘>m…  

1. AYmo{b{IV_² AZwÀN>oXÛ`§ n{R>Ëdm àXÎmmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV XmoZm| AZwÀN>oXm| H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following two passages and answer the given questions in Sanskrit. 

 (H$) àW_… AZwÀN>oX… 

  àmMrZ{dído `mdÝË`mo@{n gä`Vm: AmgZ², Vm: àm`: ZXrVQ>ofw {dH${gVm: 
A^ydZ² & `Wm ~¥hÎma^maVo {gÝYwZXrVQ>d{V©joÌofw {gÝYwKmQ>rgä`Vm, {_òXoeo 
ZrbZXrVrao {_òrgä`Vm, B©amH$Xoeo XµObm-µ\$amVo{V ZXrÛ`_Ü ò _¡gmonmoQ>m{_`mgä`Vm, 
MrZXoeo M nrbrZXrVQ>o MrZrgä`Vm {Ma§ àM{bVm: & na§ H$mbà^mdmV² 
àmH¥${VH$H$maUmƒ eZ¡: eZ¡: EVm: {dZîQ>m: & ZXrVQ>ofw EVmgm§ àmMrZgä`VmZm§ 
{dH$mgH$maU{_X§ `V² _mZdr`dgVrZm§ ñWmnZmWª `m: _m¡{bH$m: Amdí`H$Vm: ^dpÝV, 
Vmgm_² Amny{V©: ZXrVQ>ofw gwb^m AmgrV² & `Wm  no`mWª, joÌmUm§ M goMZmWª Ob_², 
Cd©aH$^y_o: àMwaVm, Zm¡n[adhZmWª M ZXrOb-àdmh: & 

 àíZm… 

 (A) EH$nXoZmoÎmaV & 
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1
 2=1 

(i) ZXrVQ>ofw H$m: {dH${gVm: A^ydZ² ?  
(ii) ZXrÛ`_Ü ò H$m {dH${gVm ? 

 (~) nyU©dmŠ`oZmoÎmaV & 
  nyU© dmŠ` _| CÎma Xr{OE & 
  Answer in a complete sentence. 2 

  ZXrVQ>ofw àmMrZgä`VmZm§ {dH$mgH$maU§ qH$ {H$_² ? 

 (g) `Wm{ZX}e_wÎmaV &  
  `Wm{ZX}e CÎma Xr{OE & 
  Answer as directed. 

2

1
 4=2 

(i) ‘AmYw{ZH$’ BË`ñ` qH$ {dbmo_nX_² AÌ à`wŠV_² ? 
(ii) ‘A^ydZ²’ B{V {H«$`mnXñ` H$V¥©nX§ {H$_² ? 
(iii) ‘g[aV²’ BË`W} H$: n`m©`eãX: AÌ à`wŠV: ? 
(iv) ‘Vmgm_²$’ B{V gd©Zm_nX§ H$ñ_¡ à`wŠV_² ? 
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 (I) {ÛVr`… AZwÀN>oX… 

  gm{hË`§ {ÛYm ^d{V  _ZmoaÄOZmË_H$_² CnXoemË_H§$ M & CnXoemË_Ho$ 
gm{hË`o _mZdr`OrdZH¥$Vo Cn`mo{JZr {ejm Adí`§ ^d{V & qH$MZ gm{hË`_² EVmÑH$² 
A{n dV©Vo `V² _ZmoaÄOZoZ gmH§$ J^ram§ {ejm_{n XXm{V & `Wm  ̶  {dîUwe_©{da{MVo 
nÄMVÝÌo _H$admZaH$Wm & H$íMZ dmZa: à{V{XZ§ _H$am` _Ywam{U Oå~y\$bm{Z XXm{V 
ñ_ & _H$amo@{n _H$`£ & na§ _H$ar dmZañ` öX §̀ Im{XVw_² EoÀN>V² & XþîQ>oZ _H$aoU 
{Z_pÝÌV: dmZa: Vñ` n¥îR>_² Améh²` ZXr_Ü ò JV: & VXm dmZaoU kmV§ `V² _H$añVw 
V§ hÝVw_² BÀN>{V & ñd~w{ÕMmVw`}U dmZa: AmË_mZ§ a{jVdmZ² & H$Wo`_² Añ_mZ² 
{ej`{V `V² A{dídñVo {dídmgmo Z¡d H$aUr`: & `: A{VVam§ {dídmgr ñ`mV² VXþn[a 
A{n AÝY{dídmgmo Z H$V©ì`: &   

 àíZm… 

 (A) EH$nXoZmoÎmaV &  
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 12=2 

(i) _H$admZaH$Wm Hw$Ì dV©Vo ? 

(ii) _H$am` Oå~y\$bm{Z H$: XXm{V ñ_ ? 

 (~) nyU©dmŠ`oZmoÎmaV & 
 nyU© dmŠ` _| CÎma Xr{OE & 
 Answer in a complete sentence. 2 

 _H$admZaH$Wm Añ_mZ² qH$ {ej`{V ? 

 (g) `Wm{ZX}e_wÎmaV &  
  `Wm{ZX}e CÎma Xr{OE & 
  Answer as directed. 14=4 

(i) ‘BÀN>{V’ B{V {H«$`mnXñ` H$V©¥nX§ {H$_² ? 
(ii) ‘J^ram_²’ BË`ñ` {deoî`nX§ {H$_² ? 
(iii) ‘Vñ`’ B{V gd©Zm_nX§ H$ñ_¡ à ẁŠV_² ? 
(iv) ‘H$Qy>{Z’ BË`ñ` qH$ {dbmo_nX_² AÌ à ẁŠV_² ? 

 (X) Añ` AZwÀN>oXñ` H¥$Vo Cn`wŠV§ erf©H§$ g§ñH¥$VoZ {bIV &  
  Bg AZwÀN>oX Ho$ {bE Cn ẁº$ erf©H$ g§ñH¥$V _| {b{IE & 
  Write a suitable title for this passage in Sanskrit. 2 
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IÊS…> I (SECTION B)  
g§ñH¥$VoZ aMZmË_H$boIZ_² 
g§ñH¥$V _| aMZmË_H$ boIZ 

 Writing Skills in Sanskrit            15 A‘>m…  

2. _ÄOyfmV: C{MVg§Ho$VmZ² J¥hrËdm AYmo{b{IVm§ H$Wm§ nya{`Ëdm nwZ: {bIV & 

 _ÄOyfm go C{MV g§Ho$V boH$a {ZåZ{b{IV H$Wm H$mo nyU© H$aHo$ nwZ: {b{IE & 
 Complete and rewrite the following story, with the help of the words 

given in the box below.  110=10 

 H$Wm 

  nwam JmoXmdarVQ>o EH$: {demb: (i) __________ AmgrV² & VÌ {d{dYm:  
(ii) __________ ZrS>{Z_m©U§ H¥$Ëdm dgpÝV ñ_ & àmV: (iii) __________ Vo ^moOZmWª JËdm 

amÌm¡ (iv) _____________ ñ_ & AÌmJË` M ñdZrS>ofw amqÌ `mn`pÝV ñ_ & H$XmMZ H$íMZ 

(v) __________ VÌ AmJË` ~hÿZ² (vi) __________ {dH$s`© Omb§ (vii) __________ 

ñd`§ M àÀN>Þmo ^yËdm H$nmoVmZm_² AmJ_Zñ` (viii) __________ AH$amoV² & AÌmÝVao, gm`§ 

{MÌJ«rdZm_m H$íMZ (ix) _______________ ñdJUoZ gmH§$ VÌ g_mJV: & VÊSw>bH$UmZ² 

(x) ______________ {MÌJ«rd: {MpÝVVdmZ² `V² {ZO©ZdZo VÊSw>bH$UmZm§ àgmaU§ Ho$Z H¥$V§ 
ñ`mV² ?  

_ÄOyfm 

 

3. _ÄOyfmV: nXm{Z {MËdm ‘JL²>JmgmJa_obH$_²’ B{V {df`_² A{YH¥$Ë` nÄM dmŠ`m{Z 
g§ñH¥$VoZ {bIV & 

 _ÄOyfm go nX MwZH$a ‘JL²>JmgmJa_obH$_²’ Bg {df` na g§ñH¥$V _| nm±M dmŠ` {b{IE &  
 Write five sentences in Sanskrit on ‘JL²>JmgmJa_obH$_²’ with the help of the 

words given in the box below. 15=5 

_ÄOyfm 

 

{h_mb`mV², ^JraWoZ, àË`oH§$ df©ñ`, ~§JmbgmJao, gwÝXadZo, _H$ag§H«$mpÝVnd©{U, 
bjbjm{YH$m:, {ZO©ZÛrn_², H$mobH$mVmnmíd}o, {dbrZm, JL²>Jm, g_mZrVm, O¡ZwAar_mgo & 

ÑîQ²dm, H$nmoVamO:, dQ>d¥j:, àVrjm_², VÊSw>bH$UmZ², CËWm`, àË`mdV©ÝVo, àmgma`V², 
IJm:, ì`mY: & 



49 6 

IÊS…> J (SECTION C) 

n{R>Vm§e  Ad~moYZ§ g§ñH¥$Vgm{hË`ñ` n[aM`… M 

n{R>Vm§e  Ad~moYZ Ed§ g§ñH¥$V gm{hË` n[aM` 
 Reading Comprehension and Introduction  

 to History of Sanskrit Literature           40+10=50 A‘>m…  
 

4. AYmo{b{IV§ nÚ§, JÚm§e§, ZmQ²>`m§e§ M n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZmoÎmaV & 

 {ZåZ{b{IV nÚ, JÚm§e VWm ZmQ²>`m§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 
 Read the following verse, prose and drama passages and answer the 

given questions in Sanskrit.  

 (H$) nÚ_²  

V_Üdao {díd{O{V {jVre§  

{Z:eof{dlm{UVH$mofOmV_² & 

CnmÎm{dÚmo JwéX{jUmWu  
H$m¡Ëg: ànoXo daVÝVw{eî`: &&  

 àíZm… 

 (A) EH$nXoZmoÎmaV &   
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1
 2=1 

(i) H$m¡Ëg: H§$ ànoXo ? 
(ii) H$m¡Ëg: H$ñ` {eî`: AmgrV² ? 

 (~) nyU©dmŠ`oZmoÎmaV &  
  nyU© dmŠ` _| CÎma Xr{OE & 
  Answer in a complete sentence. 2 

  amkm `ko qH$ dñVw {Z:eofVm§ ZrV_² ? 

 (g) `Wm{ZX}e_wÎmaV &    
  `Wm{ZX}e CÎma Xr{OE & 
  Answer as directed. 1 2=2 

(i) ‘`ko’ BË`ñ` qH$ n`m©`nX_² ? 
(ii) ‘{eî`:’ BË`ñ` {dbmo_nX§ {H$_² ? 
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 (I) JÚm§e: 

EH$pñ_Z² {XZo lrZm`ma: nÌ_oH§$ Y¥Ëdm _ñVH$_dZ_`²` nR>Z² AmgrV² & ZoÌVramX² 
{dJ{bVm AlwYmam AmÐuH$amo{V ñ_ nÌñ` A{YH$m{YH§$ ^mJ_² & BXmZr_od Vñ` 
H$m`m©b`{b{nH$: lrXmg: à{de{V & lrZm`ma: V_wŠVdmZ²  AYwZm __ J_Zg_`: 
g_wnmJV Ed & __ Xm{`ËdhñVmÝVaUnÌH§$ gÁOrHw$é &  

 àíZm… 

 (A) EH$nXoZmoÎmaV & 
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1
 2=1 

(i) H$: nÌ§ Y¥Ëdm nR>{V ñ_ ? 

(ii) nÌ§ H$m AmÐuH$amo{V ñ_ ? 

 (~) nyU©dmŠ`oZmoÎmaV &  
  nyU© dmŠ` _| CÎma Xr{OE & 
  Answer in a complete sentence. 2 

  lrZm`ma: H$m`m©b`{b{nH§$ qH$ gÁOrH$Vw©_² Am{XeV² ? 

 (g) `Wm{ZX}e_wÎmaV &    
  `Wm{ZX}e CÎma Xr{OE & 
  Answer as directed. 1 2=2 

(i) ‘emof`{V’ BË`ñ` {dbmo_nX§ {H$_² ? 
(ii) ‘BXmZr_²’ BË`ñ` qH$ n`m©`nX_² ? 

 (J) ZmQ²>`m§e: 

  ~Q>d…    ^mo ^mo: ! qH$ à`moOZmo@`_íd: n[ad¥V: n ©̀Q>{V ?  

  bd…    (gñn¥h_mË_JV_²) ‘Aíd_oY’ B{V Zm_ {díd{dO{`Zm§ 

  j{Ì`mUm_yO©ñdb: gd©jÌn[a^mdr _hmZ² CËH$f©{ZH$f: & (ZonÏ ò)  
                `mo@`_íd: nVmHo$`_Wdm draKmofUm &  

                  gßVbmoH¡$H$drañ` XeH$ÊR>Hw$b{Ûf: &&  

àíZm… 
 (A) EH$nXoZmoÎmaV & 
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 

2

1
 2=1 

(i) gßVbmoH¡$H$dra: H$: ? 
(ii) n[ad¥V: H$: n`©Q>{V ? 
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 (~) nyU©dmŠ`oZmoÎmaV & 
  nyU© dmŠ` _| CÎma Xr{OE & 
  Answer in a complete sentence. 2 

  A`_² Aíd: H$ñ` ApñV ? 

 (g) `Wm{ZX}e_wÎmaV &  
  `Wm{ZX}e CÎma Xr{OE & 
  Answer as directed. 1 2=2 

(i) ‘amdU’ BË`W} qH$ n`m©`nX_² ? 
(ii) ‘namO{`Zm_²’ BË`ñ` {dbmo_nX§ {H$_² ? 

5. eãXmWm©Z² _ob{`Ëdm {bIV & 
 eãXm| H$m AWm] go {_bmZ H$aHo$ {b{IE & 

 Match the words with their meanings and rewrite the same. 
2

1
 4=2 

  eãXm:     AWm©: 
 (A) CîUapí_:    (i) AYwZm  
 (~) AOò_²    (ii) Am_«_² 
 (g) agmb:    (iii) gVV_² 
 (X) gmåàV_²   (iv) gy ©̀: 

6. aoIm{‘>VnXm{Z AmY¥Ë` àíZ{Z_m©U§ Hw$éV & 
 aoIm§{H$V nXm| Ho$ AmYma na àíZ-{Z_m©U H$s{OE & 

 Frame questions on the basis of the underlined words. 1 4=4 

 (i) àrVöX`: MÝÐmnrS>: ñd^dZ_² AmOJm_ & 
 (ii) ghgm {dXYrV Z {H«$`m_² & 
 (iii) ~w{Õ ẁŠVmo OhmVrh gwH¥$V-XþîH¥$Vo &  
 (iv) A`o, {eîQ>mZÜ`m` B{V IobVm§ ~Qy>Zm§ H$mobmhb: & 

7. AYmo{b{IV^mdmW©`mo… [aŠVñWmZny{Vª _ÄOyfmnXghm`V`m H¥$Ëdm nwZ{b© IV & 
 {ZåZ{b{IV XmoZm| ^mdmWm] _| _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go [aº$ ñWmZm| H$s ny{V© 

H$aHo$ nwZ: {b{IE & 
 Fill in the blanks in the following two explanations with the help of the 

words given in the box and rewrite the same. 
2

1
 12=6 

 (A) B©emdmñ`{_X§ gdª `pËH$ÄM OJË`m§ OJV² & 
 VoZ Ë`ŠVoZ ^wÄOrWm: _m J¥Y: H$ñ`pñdX² YZ_² && 

^mdmW©…  
Bh g§gmao `V² {H$_{n ________ ApñV, VËgd©_² B©ídaoU ________ & Ë`mJnyd©H$_² 
Añ` _______ ^moJ§ Hw$éV & _______ A{n _______ à{V bmobwn: _m _______ &  
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 (~) ApñV `Ú{n gd©Ì Zra§ ZraOam{OV_² &  
   a_Vo Z _ambñ` _mZg§ _mZg§ {dZm && 

^mdmW©… 
`Ú{n Bh g§gmao ________ gamoda§ ________ ApñV, naÝVw _______ _mZg§ 
_mZgamoda§ {dZm ________ AmZÝX§ Z _______ & _mZgamodao Ed g _______ & 

_ÄOyfm 

 

8. AYmo{b{IV`mo: íbmoH$`mo: AÝd``mo: [aŠVñWmZny{Vª Hw$éV & 
 {ZåZ{b{IV XmoZm| íbmoH$m| Ho$ AÝd`m| _| [aŠV ñWmZm| H$s ny{V© H$s{OE & 

 Fill in the blanks in the following prose-order-renderings of the two 

verses. 
2

1
6=3 

 (A) g_mßV{dÚoZ _`m _h{f©{d©km{nVmo@^yX² JwéX{jUm`¡ & 
  g _o {Mam`mñI{bVmonMmam§ Vm§ ^{ŠV_odmJU`ËnwañVmV² && 

AÝd`… 
g_mßV{dÚoZ _`m (i) ________ _h{f©: {dkm{nV: (ii) ________ g _oo  
(iii) ________ AñI{bVmonMmam§ Vm§ ^{ŠV_od nwañVmV² AJU`V² & 

 (~) Z {H${ÄMX{n Hw$dm©U: gm¡»`¡Xþ©:ImÝ`nmoh{V &  
  VÎmñ` {H$_{n Ðì`§ `mo {h `ñ` {à`mo OZ: && 

AÝd`… 
{H${ÄMX² A{n Z (i) _______ Xþ:Im{Z gm¡»`¡: (ii) ________ & `: {h `ñ` {à`: 
OZ: VV² Vñ` (iii) _________ Ðì`_² &  

9. `Wm{ZX}e_wÎmaV & 
 `Wm{ZX}e CÎma Xr{OE & 

 Answer as directed. 

 (A) H$V©¥nX§ {H«$`mnX§ M {MZwV & 
 H$Vm© Ed§ {H«$`mnX Mw{ZE & 
 Select the subject and the verb. 

2

1
 4=2 

(i) eaX²KZ§ Z AX©{V MmVH$: & 

(ii) Ho$`yam{U Z ^yf`pÝV nwéf_² & 

AÝ`Ì, dñVwOmV_², h§gñ`, gd©Ì, H$ñ`{MX², ì`mßV_², H$_bemo{^V_², 
g§gmañ`, ^d, YZ_², a_Vo, b^Vo & 
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 (~) {deofUnX§ {MZwV & 

 {deofU nX Mw{ZE & 
 Select the adjective. 1 2=2 

(i) níMmV² nwÀN>§ dh{V {dnwb_² & 
(ii) d¥UVo {h {d_¥í`H$m[aU§ JwUbwãYm: ñd`_od gånX: & 

 (g) AYmo{b{IVnL²>ŠË`mo: aoIm{‘>Vgd©Zm_nXo H$mä`m§ à`wŠVo ? 

 {ZåZ{b{IV n§{º$`m| _| aoIm§{H$V gd©Zm_ nX {H$ZHo$ {bE à ẁº$ hþE h¢ ? 
 In the following lines for whom are the underlined pronouns  

used ? 1 2=2 

(i) H$mo@{n {eddrañ` {dídmgnÌ§ Vñ` Ed nÌ_mXm` à`m{V & 

(ii) g_wnpñWV`m¡damÁ`m{^foH§$ V§ {dZrVVa§ H$Vw©{_ÀN>Z² ewH$Zmg: CdmM &  

 (X) AYmo{b{IVnL²>{ŠVä`m_² ‘AÝYH$ma:’ VWm ‘MÄMb:’ B{V nX`mo: g_mZmW©Ho$ nXo 
{MËdm {bIV & 
{ZåZ{b{IV n§{º$`m| _| go ‘AÝYH$ma:’ VWm ‘MÄMb:’ BZ nXm| Ho$ g_mZmW©H$ nX 
MwZH$a {b{IE & 
Select and write the synonyms of the words ‘AÝYH$ma:’ and ‘MÄMb:’ 
from the following lines. 1 2=2 

(i) {ZgJ©V Ed A{VJhZ§ V_: `m¡dZà^d_² & 
(ii) g: Mnb: H$W§ Ñí`Vo ?  

 (`) H$: H§$ H$W`{V ? 
H$m¡Z {H$go H$h ahm h¡ ? 
Who is saying this to whom ? 

2

1
 4=2 

(i) ZZw _yIm©: ! n{R>V_od {h `wî_m{^a{n VËH$mÊS>_² &  
(ii) AmbmoH$`Vw VmdV² H$ë`mUm{^{Zdoer bú_r_od àW__² &  

10. (A) AYmo{b{IVboIH$mZm§ H$ñ`m: A{n EH$ñ`m: aMZm`m: Zm_ {bIV & 
{ZåZ{b{IV boIH$m| H$s {H$gr EH$ aMZm H$m Zm_ {b{IE & 
Write the names of any one work of each of the following poets.   15=5 

  ^d^y{V:, ^ma{d:, Apå~H$mXÎmì`mg:, öfrHo$e^Å>mMm`©:, H$m{bXmg: & 

 (~) AYmo{b{IVaMZmZm§ boIH$mZm§ Zm_m{Z {bIV & 
{ZåZ{b{IV aMZmAm| Ho$ boIH$m| Ho$ Zm_ {b{IE & 
Write the names of the authors of the following works.  15=5 

H$mXå~ar, Zr{VeVH$_², ^m{_Zr{dbmg:, à~ÝYnm[aOmV:, _hm^maV_² & 
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IÊS…> K (SECTION D) 
N>ÝXmo@b‘>mam… 

N>ÝX Ed_² Ab‘>ma 
 Metres and Figures of Speech             20 A‘>m… 
 

11. (A) àíZmZ² CÎmaV & 
 àíZm| Ho$ CÎma Xr{OE & 

 Answer the questions. 12=2 

 (i) ‘CÎma_²’ AÌ ‘C’ dU©: bKw: Jwé: dm ?  

 (ii) ‘_h{f©:’ AÌ H$mo JU: ? 

 (~) AYmo{b{IVn[a^mfm: nya`V & 

 {ZåZ{b{IV n[a^mfmAm| H$mo nyU© H$s{OE & 
 Complete the following definitions. 14=4 

 (i) _________V^Om OJm¡ J: & 

 (ii) ZZ_` __________m{bZr ^mo{JbmoH¡$: & 

 (iii) _________ d§eñW_wXr[aV§ Oam¡ & 

 (iv) gy`m©íd¡`©{X _________ emXÿ©b{dH«$s{S>V_² & 

 (g) AYmo{b{IVnL²>ŠË`mo: qH$ qH$ N>ÝX: ? 
 {ZåZ{b{IV n§{ŠV`m| _| H$m¡Z-H$m¡Z-gm N>ÝX h¡ ? 

 What is the metre in the following lines ? 12=2 

 (i) níMmV² nwÀN>§ dh{V {dnwb§ VÎd YyZmoË`Oò_² & 
 (ii) _Z{g dM{g H$m`o nwÊ`nr`yfnyUm©: &  

 (X) AYmo{b{IV`mo_©Ü ò EH$ñ` N>ÝXg: CXmhaU§ {bIV & 

 {ZåZ{b{IV _| go {H$gr EH$ N>ÝX H$m CXmhaU {b{IE & 
 Write an example of any one of the following metres. 2 

  AZwîQw>n², {eI[aUr & 

12. (A) AYmo{b{IV`mo_©Ü`o H$ñ`{MXoH$ñ` eãXmb‘>mañ` gmoXmhaU§ bjU§ {bIV & 

 {ZåZ{b{IV _| go {H$gr EH$ eãXmb‘>ma H$m CXmhaU g{hV bjU {b{IE & 
 Write the definition and example of any one of the following 

eãXmb‘>ma. 3 

  `_H$_², AZwàmg: & 
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 (~) AYmo{b{IV`mo_©Ü ò H$ñ`{MXoH$ñ` AWm©b‘>mañ` bjU_² CXmhaU§ M {bIV & 
 {ZåZ{b{IV _| go {H$gr EH$ AWm©b‘>ma H$m bjU Ed_² CXmhaU {b{IE & 

 Define and illustrate any one of the following AWm©b‘>ma. 3 

  Cn_m, AWm©ÝVaÝ`mg: & 

 (g) AYmo{b{IVnL²>ŠË`mo: Ab‘>ma§ {Z{X©eV & 

 {ZåZ{b{IV n§{º$`m| _| Ab‘>ma H$m {ZX}e H$s{OE & 
 Indicate the figure of speech in the following lines. 12=2 

 (i) MÝÐmnrS>ñVm{^énXoedmp½^: àjm{bV Bd, CÝ_r{bV Bd ñd^dZ_mOJm_ &  

 (ii) `VñËd`m kmZ_eof_mßV§ bmoHo$Z M¡VÝ`{_dmoîUaí_o: &  

 (X) AYmo{b{IVn[a^mfmÛ`§ nya`V & 

 {ZåZ{b{IV XmoZmo§ n[a^mfmAm| H$mo nyU© H$s{OE & 

 Complete the following definitions of the two figures of speech. 1 2=2 

 (i) ^doV² gå^mdZmoËàojm __________ & 

 (ii) AZwàmg: eãXgmå`_² __________ & 

  3,000 


